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3. —2,1+/3,1-+/3i
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5. 3cis(—n),3cis(—n),
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6. (a) 8el§
1,z 1 .7z
(b) 84e12,84e 12,
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7. (a) V2£2i,—2£/2i
(b) (22 +22z+ 4)
(22 -2z + 4)

ANSWER HINT(7)

(T+w; + WotWatw+ws)xw

9. a*+b*>—-ab
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10. (a) —Le3,e 3
(b) x*+6x2+12x+8
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Exercise 151
1. sin3#=3sind—4sin’ &
2. (a) cos*@—6cos? Hsin? H+sin* &

(b) cos4f=8cos* &#—8cos* F+1

884 Answers
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3. (b) A=2,B=10,C=20

4. (b) (z+z71) =z +62 +1
5z22420+15z2+6z*+2z7°
(z—2z1)° =z 624 +
152> =20+15z2—-6z*+2z°¢

5. (a) Re:cos’ @
—10cos®* @
Im:5cos* #sin@—10cos? &
sin® &+ sin® @

(c) 5

Mixed examination practice 15

Short questions
V3.7
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2. w=5i,z=3+2i

3. a=-3,b=7,c=-5

10. (a) w=iz
11. 2
12. 5
13. (a) —6
(b) -1
14. (b) x*+301x+8=0
16. tand
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17. —
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Long questions
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(©) s S=T, sinE=
2. (a) cos(—E)+isin(——)
6
(b) c=1

(c) m=—-6,n=4

3. (@) (i) Z°3 cos®@—3cosHsin? G+
(3 cos? @sin @ —sin? H)i

23\2

© =5

. b d
5. (@) (i) x+x,+x=——,x,+x, +x, =——
a a

2 5, V3.
—i?l —i

. -1
6. (c) (ii) 3 , 7+ 3

AT, 21,

4T, _2n
7. @) @P=es5 . =¢ 5 ,0=¢ 5

2 2
(¢) 4cos? (£J+2cos(?n) -1=0

8. (a) cos3@=4cos®H—3cosl
sin38=3sind—4sin* &
() 2-+3
9. (b) (i) a (i) b(cos&+isiné)

(iii) AB= \/b2 sin? &+ (a—bcos 6?)2

. Chapter 16
Exercise 16A
1. (a) (1) y
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